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‘ Measurement Sheet — Body Parameters

6. Basic body parameters:

weight [kg]
height [cm] :

pelvis width [cm]
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pelvis depth [cm] o i
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pelvis perimeter [cm]

Y Y distance from the shoe sole
to the knee-joint axle [cm] A =y

distance from the shoe sole
to the hip-joint axle [cm]
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distance from the shoe sole F
to the armpit [cm]
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chest perimeter [cm]

shoe size
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Body Weight

6. Basic body parameters:
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weight [kg]

A

height [cm]

B

pelvis width [em]

(@

pelvis depth [cm]

pelvis perimeter [cm]|

distance from the shoe sole|
to the knee-joint axle [cm]

distance from the shoe sole|
to the hip-joint axle [cm]

G

distance from the shoe sole
to the armpit [cm]

chest perimeter [cm]

shoe size
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Measurement A




Measurement A

6. Basic body parameters:
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weight [kg]

A

height [cm] 170

B

pelvis width [em]

pelvis depth [cm]

pelvis perimeter [cm]|

distance from the shoe sole|
to the knee-joint axle [cm]

distance from the shoe sole|
to the hip-joint axle [cm]

G

distance from the shoe sole
to the armpit [cm]

chest perimeter [cm]

shoe size
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Measurement B
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Measurement B

6. Basic body parameters:
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W |weight [kg]
A |height [em]
B [pelvis width [em] 36
C |pelvis depth [em]
D |pelvis perimeter [cm]
distance from the shoe sole
E 5
to the knee-joint axle [cm]
F distance from the shoe sole
to the hip-joint axle [cm)
G distance from the shoe sole
¥

to the armpit [cm]

chest perimeter [cm]
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shoe size
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6. Basic body parameters:

(18,5 + 18 )/2 = 18,25

W |weight [kg]
A |height [em]
B |[pelvis width [cm]
C |pelvis depth [em] 19
D |pelvis perimeter [cm] |
i distance fro.m. the shoe sole|
to the knee-joint axle [cm]
F distancg from the shoe sole |
to the hip-joint axle [cm)
G distance from the shoe sole

to the armpit [cm]

chest perimeter [cm]

shoe size
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Measurement D




Measurement D

6. Basic body parameters:

to the armpit [cm]

W |weight [kg]
A |height [cm]
B |pelvis width [em]
C |pelvis depth [em]
- D |pelvis perimeter [cm] 90
i distance fro.m. the shoe sole
to the knee-joint axle [cm]
F distance: fl.'Of'n the shoe sole
to the hip-joint axle [cm)
G distance from the shoe sole

chest perimeter [cm]

shoe size




Measurement E
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Measurement E

6. Basic body parameters:
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W |weight [kg]

A |height [em]

B |[pelvis width [cm]

C | pelvis depth [cm]

D |pelvis perimeter [cm]

i distance fro.m' the shoe sole 48
to the knee-joint axle [cm]

F dislanc'.f l'fo!n the shoe sole
to the hip-joint axle [cm|

G distance from the shoe sole

to the armpit [cm]

chest perimeter [cm]

shoe size




Measurement F
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Measurement F

6. Basic body parameters:
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W |weight [kg]

A [height [em]

B |pelvis width [em]

C |pelvis depth [em]

D |pelvis perimeter [cm]

7E d1:tm;.: I‘ro.nil. lhg siloc sole

to the knee-joint axle [cm]

F dislzmcg l'ro!n the shoe sole 87
to the hip-joint axle [cm]

G distance from the shoe sole

to the armpit [cm]

chest perimeter [cm)

shoe size




Measurement G




Measurement G
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6. Basic body parameters:

W |weight [kg]
height [cm] :

"
n

pelvis width [em]

A

B

C |pelvis depth [em] \
= :

pelvis perimeter [cm]

distance from the shoe sole|
to the knee-joint axle [cm] A i <\

distance from the shoe sole —f—
to the hip-joint axle [cm) , B
o

to the armpit [cm]

distance from the shoe sole 133 = SV, 057
E

chest perimeter [cm]

shoe size
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Body Parameters

6. Basic body parameters:
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A |height [em] 170

B |pelvis width [em] 36

C |pelvis depth [em] 19

D |pelvis perimeter [cm] 90
distance from the shoe sole

¥ to the knee-joint axle [em] 48

F dislancg f(o!n the shoe sole 87
to the hip-joint axle [cm|

G distance from the shoe sole 133

to the armpit [cm]

chest perimeter [cm]

shoe size

"
n




